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3 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
5 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
7 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
12 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
16 WIFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
18 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
19 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
2 0 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
2 4 WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ 28 1 CALL
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1 WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ 35 1 CALL
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7 WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ ... .. 30 4 CALL
1 2 WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ WTVFQ 35 1 CALL
16 WI.LFQ W.VF. WT.FQ ..V.. WIVFQ WTV.Q .T..Q 23 6 CALL
18 V.. WIVFQ 6 9 -—
19 ... ... .. Voo W.FQ 4 10 -—
20 WTVFQ .T..Q WTVFQ WT.FQ WTVFQ WTVFQ WTVFQ 31 3 CALL
2 4 WTVFQ WTVFQ W..FQ WTVFQ WTVFQ WTVFQ .. ... 28 5 CALL
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7 22222 33333 33333 23333 42333 12212 55555 3.03.03.03.03.0 3
1 2 33333 22222 22222 32222 23222 33333 22333 2.02.02.02.020 2
1 6 66666 55555 46666 66666 55455 65556 44444 6.0 6.0 6.0 6.0 6.0 6
2 0 54554 44444 54444 55554 66666 46645 33222 4.0 4.0 4.0 4.0 4.0 4
2 4 45445 66666 65555 44445 34544 54464 66666 5.0 5.0 5.0 5.0 5.0 5
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2 CGSRPJ CSRPJ CSRPJ CSRPJ GSRPJ CSRPJ GSRPJ 35 1 CALL

B e e 0 11 —
6 CS.P. CS.PJ CSRPJ CSRPJ CSR.J C.RPJ ....J 26 5 CALL
9 CSRPJ . SRPJ CSRPJ CSRPJ CSRPJ CSRP. GSRPJ 33 4 CALL
1 0 CSRPJ CSRPJ CSRPJ CSRPJ CSRPJ CSRPJ CSRPJ 38 1} CALL
Tl e —
14 C.PJ..... .. R. ... CS.PJ CS..J CSRPJ 16 6 CALL
15 ... CSRPJ CS.PJ ..... ...P. .S P. ..... 12 1 —
2 1 CSRPJ CSRPJ GSRPJ CSRPJ CSRPJ GSRPJ CSRP. 34 3 CALL
22 _R. ... ... CSRPJ ..... .. R. ... 7 9 —
23 .S... CR. ... ... 3 10 —
27 .RJ ... R. ... JCOSRPY 9 8 —
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# %S CSRPJ CSRPJ CSRPJ CSRPJ CSRPJ CSRPJ CSRPJ C S R P J &
2 44444 22222 45454 34434 45554 23222 22222 3.0 4.0 4.0 4.0 4.0 4
6 66666 55555 33543 66666 66666 55566 56665 5.5 6.0 6.0 6.0 6.0 6
9 32232 33333 22222 22222 23323 44655 64556 2.0 2.0 2.0 2.0 2.0 2
10 11111 11111 11111 11911 11111 11111 11111 1.01.01.01.0 1.0 1
1 4 55555 66666 66666 55555 54445 66443 33344 5.55.0505.05.0 5
2 1 23323 44444 54335 43343 32232 32334 45433 4.0 3.03.03.03.0 3
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7 T.TFTFTFTFTFTF 13 6 CALL
8 TFTFTFTFTFTF TF 14 1 CALL
o TFTFTF TF TF TF TF 14 1 CALL
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4 45 56 66 45 66 55 66 5.06.0 5
5132211 11232311 1.02.0 1
13 54 43 34 33 45 42 42 4.0 3.0 4
17 66 65 55 66 54 66 55 6.05.0 6
18 22 344354113434 3.04.0 3
19 31 112222321123 2.01.0 2
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22 SRSRSRSRSRSRSR 14 1 CALL
26 SRSRSRS. .. .RSR 10 6 CALL
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3 66 44 65 65 65 44 66 6.0 5.0 6
9 1M 111111112212 1.01.0 1
11 44 55 56 54 22 55 33 4.0 4.0 4
15 22222322331121 2020 2
22 33333233443344 3.03.0 3
26 5566 44 46 56 66 55 5.0 6.0 5
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17 WEWF WF WF WF WFWF 14 1 CALL
25 WF WF WF WF WF WF WF 14 1 CALL
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HES W WFWFWFWFWFWF W F 84
4 1133 2142222221 2.01.0 1
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17 33221213331133 3.03.0 3
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17 RPRPRPRPRP RPRP 14 1 CALL
22 RPRPRPRP RPRPRP 14 1 CALL
26 RPRPRPRPRPRPRP 14 1 CALL
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3 22333323232222 2030 2
8 55 55 55 55 44 4555 5050 5
17 44 44 44 44 55 54 44 4.0 4.0 4
22 111211 11111111 1.01.0 1
26 33212232323333 3.02.0 3
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